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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

- I 1 |
3500 + EcFZEXp : DOOOOOOOOOOOOOOOOOC OOOOOOOOOOOOOOOLOOOOOOOOOL OOOOLOOOOOOOOOLOOOOOOOOOOOOLOOOOOOOOOOOOOOOOOOOOOOOO OO
3000 { ¢ FECdef | 586352
—>— water_ec |
2500 A M e i A AL T X 0t "
M I DOOOOOOOOOOO0O0
2000 .
1
1
1500 |
xooooo?x !
1
1000 I
1
Warning: col [ EcFgro’, 'EcPltng’'] is missing

500

25

50

75

100

125

150

175
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

4500 - ®

—8— ECO
4000 -
3500 -
3000 -
2500 -

2000

1500 Warning: col ["FVOEC'] is missing

0 10 20 30 40
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-9 0
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P3-9_0, Day=44 (2025-05-16)
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Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-9

BjiE) | BRI (F)) | EHME (BAH/K) | XS ERE

07:05 294 150.0 |Z=| 1BRi%e07:05 Bzh (REERESE)
07:50 294 150.0 |Z=| 1BRi&e07:50 Bzh (REERSE)
08:35 294 150.0 [ =| {Ri%e08:35 B (REAERESE)
09:40 294 150.0 FA| 1Ri%e09:40 Bzh (RAEESE)
10:30 294 150.0 El 1BRi%010:30 Bz (GRAERE)
11:20 294 150.0 =l {Rige11:20 B3 (RAERSE)
12:15 294 150.0 Sl {Rige12:15 B3 (GRAERSE)
12:55 294 150. 0 E| {Rige12:55 Bzh (RE{ERSE)
13:45 294 150.0 E BRige13:45 Bz CGRAERSE)
14:25 294 150.0 | Ri%e14:25 B (REAERESE)
15:05 294 150.0 E BRige15:05 Bz (GRAERERE)
15:55 294 150.0 F BRige15:55 Bz (GRAERE)
24t 3528.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

FEREHLEM 8 STHAEARSF (195.0 : 156.0), AIAEAMT—@E XAFHE
ZRIASEPRERE156.0 ml.

large discrepency for begining water status (318:114.0), set to 318 ml.
REXEEBIEC (2715.0) 5iZTEEC (2000.0) REKR K, HHRE

BEEIRECE (2715.0 vs 3725.0)fRe
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Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1 3000
400 4 Bylnit @D46 0$:23: ET=1461 Fg=1974.0 Ro=402.0 h

ET (ml/hr/plant)

ET (ml/hr/plant)

1
1 B
300 4 ! 2000
1
200 A |
1 - 1000
100 :
b S & 1
0 p—a PN ol o 8000
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
40 FE | | W | W[ W[ W W (Bx(5x| D) [ m [ m | m | m [ m [ m | m | m | m [ m | m | m | m|m
1
300 4 ByEt @D43 18:59: ET=1699 Fg=1692. 0 Ro=nan 1 - 2000
200
- 1000
100 -
b © < o @ o—&
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
a0 B | BB | BB | B| B[22 W B 5 5 5 B 5 5 5 B SREFNEFANERESRS
1
i : : = = ] = ] - 2000
300 ByWoFv @D46 0? 23: ET=1297 Fg=1800.0 Ro=408.0 o o ° ° o ° °
200 A |
1 - 1000
100 4 : \I\-\.\¥
b © < o @ o—& I
1.0 p——eap y — e: — e — 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
osl B | B | B | | || % |Bn|5n| B | & | B | B | m | |m ||| mk| B (22220 52
0.6
0.4 1
0.2
0.0
R 4
1500 4 I

[ ] | _obs
—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



40.

37.

35.

32.

30.

27.

25.

30.

30.

30.

30.

29.

29.

29.

35

35

34

34

M_E

T T
800 1000

m=635,m FV0=0

T
600

75 A

50 A

25 -

00 ~

75 -

50 A

25 A

—0— ME

6&0 6&5
m=845,n FV0=0

.51

.0+

.9

.0+

845 850 855

40 -

38 -

36

34 A

32 -

-— MW

23
\

600 800 1000

m=495, FV0=0
25. 30 A - M_E
25. 28 A
25. 26 A
25. 24 A
25. 22 A
25. 20 A
T T T
495 500 505
m=675,m FV0=0
32.51+ —@— ME
32.0 A
31.5 4
31.0 A
30. 5 A
T T T
675 680 685
m=885,m FV0=0
—o— ME
37.0 A
36. 5
36. 0
35.5 A
35.0 A
885 890 895
m=495,m FV0=0
—o— MW
34.5 A
34.0 A
33.5 4
33.0 A
32.5 A
32.0 A
495 500 505

m=535, FV0=0

27.

27.

26.

26.

25.

25.

M_E

5é0 5é5
m=735,n FV0=0

34.5

34.0 -

33.

33.

32.

32.

7&0 7&5
m=940,n FV0=0

38.

37.

37.

36.

36.

35.

940 945 950

m=555,m FV0=0

36. 5

36.

35.

35.

34.5

34.0

33.

-— MW

555 560 565

29.

29.

28.

28.

35.

34.

34.

33.

33.

38

37

37

36

36

35

m=590, FV0=0

57 —e— ME
0 .
5 .
0 .
T T T
590 595 600
m=790,m FV0=0
0l —e— ME
5 .
0 .
5 .
0 T T
790 795 800
m=995,m FV0=0
40
- ME
39 -
38 -
37
995 1000 1005
m=590,m FV0=0
.0+ —-@— MW
.9
.0+
.9
.0+
.54 T T T
590 595 600




m=635, FV0=0 m=675, FVO0=0
39.0 39.5
—0— MW —0— MW
38.5 39.0 +
38.0 38 5 4
37.5
38.0
37.0 +
37.5
T T T T T T
635 640 645 675 680 685
m=845,m FV0=0 m=885,m FV0=0
40. 0 o MW 40. 5 - —-@— MW
39.5
40. 0
39.0
39.5 +
38.5
39.0
38.0
38.5 A
37.5
T T T T
845 850 855 885 890 895

39.

39.

38.

38.

37.

37.

40.

40.

39.

39.

38.

38.

m=735, FV0=0

—0—

MW

T
735

T T
740 745

m=940,m FV0=0

—0—

M_Ww

T
940

945 950

m=790, FV0=0

39.5 4

39.0 A

38.5 A

38.0 A

37.5 4

37.0 A

—— MW

T
790

T T
795 800

m=995,m FV0=0

41.0

40. 5 A

40.0 A

39.5 A

39.0 A

38.5

—— MW

T
995

T
1000

T
1005




hour

140 -
:30 -

:35 -

:20
:50
:20
:50
125
105
:50
I I I I I I I
/, Q) ¥ \2\ /, /
tN

:00 -

100




P3-9

BfiE) | BRI (FD) | EE (EH/AR) | XK R

12:20 294 150.0 FA| 1BRi%@12:20 B3h (RAHEREEE)
12:50 294 150.0 FA| 1Bzi%@12:50 B3h (RAERSE)
13:20 294 150.0 & =| 1Ri%@13:20 B3h (RAHERESE)
13:50 294 150.0 & =| 1Ri%@13:50 Bz (kAFEREE)
14:25 294 150.0 & =| 1Rige14:25 Bz (RBHEREE)
15:05 294 150.0 & =| 1Ri%@15:05 Bzh (RAHEESE)
15:50 294 150.0 & =| 1Ri%e15:50 Bz (kAEREE)
23t|2058.0 (70%) 1050. 0 3EHKEC: 2080.0, PH: 6.0
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